A sailboat weighing 980 Ib with its occupants 1s running downwind
at 8 mi/h when its spinnaker 1s raised to increase its speed. Determine
the net force provided by the spinnaker over the 10-s interval that it
takes for the boat to reach a speed of 12 mi/h.
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(h) At maximum deformation

Va

9

(c) After impact



det

— —

(a) Period of deformation

fRdt

+

(b) Period of restitution

&R"f U=V Ve~ Vg
&= yl’k Visw U=V GV




/
VE— V/:-’@(VA-VD & Oelficient o/~ restitutiom

C‘-"o r‘ "{C L*’"y F" §t.c uv\p alt
£ gl -
Ve~ \a=0 Va= Vs
€ - | rCH‘cH |y ¢|4.{1'i¢. jpat t

VB"' =W %



The velocities of two steel blocks before impact are as shown.
Knowing that the velocity of block B after the impact 1s observed to

be 2.5 m/s to the right, determine the coefficient of restitution between

the two blocks. -
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Two steel blocks slide without friction on a horizontal surface; imme-
diately before impact their velocities are as shown. Knowing that

e = (.75, determine (a) their velocities after impact, (b) the energy
loss during impact.
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